Magnescales

&z~ 7 % X/ — )L / Rotary Magnescale / Dreh-Magnescale

RS97-1024[1G[] Series

BHOWETWZ2Z, bR T0ET,
ZHEHOHNZ, Z OHWRGHE % B9 Bt < 72 0,

ZHREAICEEL T, ZORRSIELE B0 v < 2230,

Btk o7-%iE, BHBRICVDZLEETEIVNETOT, BFHREL TL &0,

Read all the instructions in the manual carefully before use and strictly follow them.
Keep the manual for future references.

Lesen Sie die ganze Anleitung vor dem Betrieb aufmerksam durch und folgen Sie beim

Betrieb des Gerats den Anweisungen. Bewahren Sie diese Bedienungsanleitung zum spateren
Nachlesen griffbereit auf.

H#% 5#BAZ / Instruction Manual / Bedienungsanleitung



[For U.S.A. and Canadal]

THIS CLASS A DIGITAL DEVICE COMPLIES WITH PART15

OF THE FCC RULES AND THE CANADIAN ICES-003.

OPERATION IS SUBJECT TO THE FOLLOWING TWO

CONDITIONS.

(1) THIS DEVICE MAY NOT CAUSE HARMFUL
INTERFERENCE, AND

(2) THIS DEVICE MUST ACCEPT ANY INTERFERENCE
RECEIVED, INCLUDING INTERFERENCE THAT MAY
CAUSE UNDERSIGNED OPERATION.

CET APPAREIL NUMERIQUE DE LA CLASSE A
EST CONFORME A LA NORME NMB-003 DU CANADA.

RS97-1024[]G[] Series



BE2DE=HIC

LA OBINIRAAITHAEE L TSN TVE T, LA L, HEPRERICE 5 H 5 721
P ddL, KEKPEEBAEIZIDHERKT A EABHERIZOLENZZERHD, i
PRCd, &7z, BMOMREEEZEELTLES ZLEHD T,

IS DFIAERRIYIT=2OIZ RED 72D DFEFEFINILTF - TL 22 0 ERPRE,
R, MM, BREA E 2T A5 01IS, 20 [REDE®IZ] 28T et 7280,

EERTROEK

COVZaT AT, KOS AERE LTOET, RRNEE X< BB Th 6 KX E D
AL

A B

ZOFROFERRHEF OB L,
MBI ENBYET,

N =
AN\ FE
ZOFROFBREEAFO LWL, RERLFOMBHIZLD 7 A4 L= FEEOYEICHEE
A5 Z2A3Z2ERnHDET,

=
P
¥
rm

RELEICEKDAER KT s E BRSO &

AR ZzRTRS

TRzEBIET S

®

DEEEIE

E KB BREE A AEE
L5
EEs)

THREETT S

e

75T OB L

RS97-1024[]G[] Series

(1)



Zﬁ&iﬁgét;
= (|1
FHRVE
HHEEEELS TERL &L N KERBREBOER
FR & mﬁﬁ@ruﬂf@%rf@m LAENTL ZX, EEBZBhPHY
9,
5 FHEVE
BNAFCRAEESE LAV ,
A W FCRHERE LTl AR, = BEORALLE
FohVE
DEEL BV - ;gwuhb\w)
2T =R Bl TR, SGEL RN TL 7230, *W%@%%%ﬁf%
ZEEBDET.
-z
A Py}
EEDORLEHERT S FHhEWE
TEEATEIRNCIE. BEORNAY XLHErD TEEDOR | wWy FHOBhDHY)
BEREMRL TL 2 X0, 9,
FohWE
BEREZAN-TFEEEILEL #>Ai%#ﬁ®ﬁﬂ
DEEFEL EOBBEEY > TH 5, EEE LT A X0, EEBZBhPHY
9,
BIESAITEET D FokWE
A WA E A ANTHA AR, FBRPEELEIE | W FHORASHY
ERRENLOESIZESD Eebf<féw 9,

—MR X B EIR

DUt 2 E L BHWW22L 200 RARFE T, f4 O 2B EorEid, ASHFICR Xz
HREB LOCREEES A LTV AT ST A X0,

- BASE F 7RI, éﬁ%m@%&hioﬁ&ﬁﬁﬁzﬁﬁbfné EARTERRL T 5 THHL 72 &0,

- MBS L 725, BEOEEEVIIET 5 7200y mRAE R AL TR 230,
-ﬁﬁuﬁéhtﬁ%uﬂfmﬁﬁitu&ﬁéméhtﬁﬁhowfm\%%%i@%%@%ﬁd?éiﬁh@ﬁf%ﬁ
{7E&,

- B A OSSO T TSR 255, SRS, BRIEAEICED . 20K KO E & sy
WEMRHDETOT, BROTHETOLEZHML 772 X0,

(2) R$97-1024JG[] Series



RS97-1024[]G[] Series

BHX

Y R 1
Lode BT ettt ettt e neeraenae 1
Lo R ettt ettt ettt ettt ettt e e e 1
1o3. T AT AT ettt ettt aeaeen 1
Lol TR et et e e et st e e e eeenns 1
- = (DT ik - /S 2
T E 7 B () D = — RSOSSN 3
4. HFES (U T IUE ) e eeanaees 4
AT B I ettt sttt enee e 4
42 T PO = TEEHAE oot 4
L= 5 ihem 1 N SRR 5
6. EIEEVY T X AT = IVDEUT oo 6
6-1.  HUSE I U R ZE e 6
6-2.  EUIT 0D ZTETE et s et s e 7
630 T TEME ..ottt e e eeeeseneeenaen 8
FAE 1 3L TSSOV 10
ST =R ok = A N A o Y- 1 PR 12
LS TR i o S 13
9-1. [HHE= 271 2 = ILFBIEAR oottt 13
0-2. HITTT AT B U AR oot 14
023, T TR ettt neaeen 14

0231 N B Tl et 14

9-3-2. FERFHFERTE T — TIL (UTE ) oo 14
O T B oottt ettt eeeaenn 15
LLOTRE 4 52 - B ST 16

Di



iy R$97-102401G[] Series



1. HEBE

1-1. BIE

ABLELAE < 27" % 2 — U TAEREMIAN ) O Rl ER N EE TY, v —4& / 27 — & 57 HE
EREENEL Y 7)) 2= PSR AT =L THD, ZEEE (BRI T 77 ()M

IO TILBEEETILTY,

1-2. ¥R

L BRI TH B e, BB B S0

WEERZITEEA,

T — ZANFRICKOBOEBERDBZH D, r— T LA RES T,

U—4 /2T — 2 = gLLmnEiTty,

- BNy FE2ANE L TWB =%, ERETT,
- CEBE(MRONERR T (BRIDA VB T =2 F 9 TEAKLTWE 0. Xt

BRIV bR =FIZHA Lo MCERTRETT,

1-3. AT LIER

fERH
ERr—J

BlE~ T 27—
RS97-1024EGD

=EEHHEHFIAO-F

B~ T 2 X r—Iv
RS97-1024EGA

HERH
ERr—J)

RS97-1024NGA

TR O—2

1-4. Bl
RS97-10240]G 0 0101

*03 : RS97-1024NGA O #

RS97-1024[]G[] Series

SHEREE - 23 bit B
L O—%2K&E (E:96 mm. N: 180 mm)

\\ l—lj F—TILE@O1:1m 02:2m, 03:3m )

BETO bR (A 775y 708 D ZEBRERH)

N1



2. BEBDRBRIMEME

® HHhazxvz

15 ZM5l : RS97-1024NGA

® o—-#%
Bt OFRRBEER BN, A4 2 ) 2 v 2 g5 L. M ERBOZODT TV ) 2 —
METO R EINTVET,

@ AF—4%4
sz SR ISR T2 MR 21 &, kA &tt~ o 2 27 — O LS # &3 7~ 7'
AN L TCOET,

® HHazxv 4
MR — T VB L 22, =3
P — 5 AR D £5,

i

BHYRERIZT7 7T 02 (R D v

20)

RS97-1024[]G[] Series



3. R EDES

ABRORKRE / ERE IR D720, MREDEREFHEBFD < 2ZE 0,

s a—4 27 —-421F, FHLYY 7TAESOMAADETIHHL 2 X0,
- WHax s 23 EREEITT, U— 2R AT — XI5 50K BRI ZEE L X0,

O— 42 OFME

- 0T — ZOBPERIZIE, A% E DR EHO IR E T DT 20T 7230, KL
BN 2R H D £ 9,

RIS E A DT RV LS REDT T EE N,

- IS B DR D E B X H N TL F X0,

T AL EIE, Ehnay I 2HETES W TS Z X0, 7T - LS OE AR
FALZEWTL Z& 0, 73— L TiERT 28, BSIRZFEAFEICL T 20,

ATF—2DEEAY FOBREE

< BNy FORMEIZIE. Bk E OB Em O 72 BER AT DT RN T 72 X0, AT
BN WIE I NS RENESH D £5,

- BRI OEIBHEIEDO H N1 E DT 20N NES5 A2 LT Z &0,

- BRIEICEE A EDEVE D EREI S NTL Z X0,

- 27— 2 aBELSEE B E PICULAnTS 230,

T AL IR, FhnA T I ZFTESHRNTLS 23w, 7ra - L PUAoERKEANE
FHLAEWTLZ& 0, 7La—LTHERTIEESE, BSHEEREICL T2,

><: Bt
'rifzktrﬁoh‘m\
IﬂU?')T}bﬁ%@%ﬂ&@

FILA—LT
EKHHEes

FILa—ILISD
BHEAH

15 ZM5| - RS97-1024EGD

DR EDEE

RE / EWREF
o HWATRHZ B A S T a2 I LT, R 7 Eike LT 20,

R$97-1024[1G[] Series N3



4. HHOES (VU T7IVHA)

4-1. ES4#

ZOEEET T X2 — Nz T TI Y a—bF - YUY TFPANGFEEES G Fa LT, 3 te—3
ETF—=EELEY,

[BRFEDPSHI5E]
27— EERF.
O—2CWEETHEDY b

A5 ZM5 - RS97-1024NGA

4-2. O bO—FEHEHLE

Iy ba—FLOEHRIZOWTE, TV ba—F X —F — OB S T Z X0,
( [7. %55051] =)

4(0) RS97-1024[ 1G] Series



5. BIREICOWT

R

B (KR RRE 23T 707 (BR)BRIGa Y tu =22 50M#H5E 50 9,

RS97-1024EGD

— 2B (R ) RO ISR O Aot 1

RS97-1024EGA

777y o (BR) Ho ISR Ao

RS97-1024NGA

7 7Ty 7 (BR) B IEHTED R

RS97-1024[]G[] Series

N5



6. EEE~ T 2 AT —IJLDOET

6-1. MYTEB LV AE

[BliiE~ 2 3 27 — VAT OB K ORI, FTRITRLZEE 55 K512 L TL Z &,

A — 2 A& 96 mm (RS97-1024EGD / RS97-1024EGA) Dig&

/10.02
2104 +0.1 ) . // 0.02 B‘
% —7]0.02 §
RO.2LIF
| M
296 78,1
(2100) ©]00s |4
2192 x0. . @&z
B :mm
B E AR
O—42R%E 180 mm (RS97-1024NGA) DIZE
($207.3)
/10.02
//]0.02 |B] $1923
— $180*°
% [loo CIEHIEY
5 < \ RO2LIT
S 2 AL
3 =) 9-M6
| ﬁ 9-M6
17 \ 7,
($2083)
$3283
($340)

*¥1 A—% / A7—2BFEDERZERT0.1 mmE T THREDI L,

: EERFD

B mm

WA E AR

60)

RS97-1024[]G[] Series



6-2. BT LD TEE

- MR~ 3 2 — Lo u — & ZHYHT B REREIR 2 7 — 2 & B B [ E O RS
ENTVBEAIE. MR~ 273 27 — L LI OEE A2 & 5 72D IS EFIFEL TS 2230,

- [blfis~ 2% A — L EHUSHT B RS, %fﬂﬁﬁk&@%%%@f&ﬁ%#ﬁﬁm‘@ég
EEMERL TL 7 X0, BUHEAZE A L TR WEAIZIE,. IrEDORE S 6 .,
MR~ 27" 2 27 — LT 2 hERHD T,

© ARBUIIIRGESE IP6S ISEA L COETH, 27—V M RUBAEE22 650K SIZL
TLZEW, WEOFKE 22355150 £3,

- AT — 2O — 2 OWMEIZ, A1EG A0, Ak EORBIERER D20
LBENWTL 72X,

U= 4 /AT =RFNFNIZ, V) TAFRSBREINTHET, BTELCIY 7TILESOM
BAbETIHHL Z X0,

- W ax s 2 R3EEEITY, AR AT — RIZY 6 BN EIEHRVIC ZEEL X0,
O— 22T — APWHETIBNAH D 7,

< BUSHERL BUSFIEIC e, IEU KB 2 LT Z &0, IELOEHT 2 LT IERIS
BfE L WBaIE, By — B 2 & TTEEL X0,

B2Z

s PR SR AT = AVDEE (T TV ) 2 — MESEQITEAME) X v -4/ AT -4 D9
THOEUS TR T DS B AERNE 225 F)I2H R U KT 5 £2FLINIZH D £9, ([10.
SHESTEX ] 2H)

A5 ZM5l - RS97-1024NGA

R$97-1024[1G[] Series N7



6-3. BUTFIE

E#~ J % 27 — VB EI DRSS
1 [\E~ 27 % 20 =)L 2 U 2 BRI TR O, AP anZ L 2L 7,
PG b 535803, FRNICIERD 97,

BE~Y T 2 X5 —ILD AT — 2 OEST T

2 [EE~ 2% A7 —ILDAT — & ENAFGFEFRIL b (HES) TRIE® %, [lERE 3 U
B A 0.02 mm L FICEEE L, Ao CHEEL 9. ARk, RO 2 HEREL T #
X0, BB Yy 7T 24— ETHERL TL 7230,

O—2A% |#zZ ALK (FER) |FES (FER) |&HT Ly
96 mm RS97-1024EGD M4 X 20 (9A) |M4H Of#) 2.5 N'm
96 mm RS97-1024EGA M4 X 20 (9A&) |M4H Of#) 2.5 N'm
180 mm RS97-1024NGA M6 X 20 (9A) M6 H (91#) 9 N'm
O— 42 96 mm (RS97-1024EGD / RS97-1024EGA) D&
2TF—4
‘ R RHE
% \ ©/0.02 |A
| 2192 +0.1
(2200)
B : mm

O— 2 A{Z 180 mm (RS97-1024NGA) DiGE

ﬁ 25—4 M6 x 16 (fF/&am)
-T i B = FES (HER)
| % \ O\ .
17 N Z7
($208.3)
$328.3
($340)
B mm

BT XAT—ILOAT—42EO0—-42ND7 VTS5 XAHE
3 v — & & [ AEYH T SR IESD T BRI, 9 — & ORI 2 7 — 2 ORI & il L
BWZ LR LET,

4 vu—4x%&, [BREHZ URLGE 0.02 mm A MIZHEBL 9, SR CvyrTs 24—k
ETHERL TL Z &,

8

RS97-1024[]G[] Series



5 [H#E~2Z 3 27 —DOa — & & [AERMEHF S AT Z AL b (RHES) TIRIE®D L,
AF—ROBHHET — Z2DOEHERODO ) T IV AN FEOEIZE S LD IZHHE /MR L
9,

O—2REFE |[BEF RV b (HEMR) |FES (FB&R) |[7VT7F722R

96 mm RS97-1024EGD M4 X 159 A&) |M4H 91#) 0.14 +0.03 mm BAA
96 mm RS97-1024EGA M4 X 15 (9A) |M4H 91#) 0.14 +0.03 mm LI
180 mm RS97-1024NGA M6 X 16 (94 ) |M6 H (9 1i#l) 0.25 +0.05 mm BLA

0O— 2 A% 96 mm (RS97-1024EGD / RS97-1024EGA) Dig&

2165
2104 +0.1

H&tEmE

20.14 +0.03

N

|

X
(20.15)

\
I
| .

| B4 : mm

\

>

Bf<HAR
A— #P4E 180 mm (RS97-1024NGA) DA

M6 x 16 (/B 5h)

N4 ﬁ R
.
it = FEL (HER) ==

P SN\

'

BAI: mm

Bt &R
R FAHD 2R =313, (HBROBIEED 2 X —H 2 HHL T Z X0, (@Rt
LT Z X0,
=23 T7NIZTLBTTOT, BN NELEZ LT T 0, e—213ET5 L.
FERE / MERE 2 TRAEC X £ H A,

BEE~ 7 2 X5 —)LOO—2 OB
6 TFINESTIRIED Lza— & & KD THEE L F 3, AkiD 5%, [BGE 2 R L TL 72 X0,
Ry 77 24 — s ETHERR L TL 72 &y,

O—-2A"% |BF et hvy
96 mm RS97-1024EGD 2.5 N'm

96 mm RS97-1024EGA 2.5 N'm
180 mm RS97-1024NGA 9 N'm

RS97-1024[]G[] Series

N9



7. WERSH

ZEEW (%) B (RS97-1024EGD) D&

ZEBREN
2 N B 2aN
) fT————=
R —T M0 SERAERY— 7@
BAHEET BAREET BAREZET am
JN2DS10SL2-R JNTHST10PL2 JN2DS10SL2-R 36210.0100PL
fE5# PIN No. PIN No.  PIN No. PINNo. {25
—SD 1 1 1 ’i@ |"\| 1 +5V
— 2 PR e Zt 2 [ o
ol 3 s 3 +RQ
= 4 4 | | F 4 —RQ
—RQ 5 BE ~ o~ B& 5 5 BE R~ s
rerom pare P e || X anl | >
ov 7 2 %; - 7 &8 I g@l | - 5o
+5V 8 £t =) s . L& s : -—
15V 0 |E& B8 o it ﬁéﬁ | 9
v | 10 S 10 10 0 [
- T T — 7 = | I=IUR

100)

RS97-1024[]G[] Series




77}y 7 () #L4k (RS97-1024EGA / RS97-1024NGA) DiZ&

T (R
N B 20N

— i
-

U
ERRBERT—TILO ERBERT—TILQ
BHAMZEEF HAMZEZEF BHAMEZET KZRETLE
JN2DST0SL2-R JNTHS10PL2 JN2DS10SL2-R PCR-S20FS+
tz2% PIN No. PINNo. PIN No. PINNo. {=2%
—sp | 1 [X& & 1 1 HEE 2 1| +sD
+sD > 2 > HEE L pel | 2 | —sD
Sk | 3 3 s e T 3
4 | 4 4 | | 4
—RQ 5 Bt -~ ~ fAf 5 5 _Eﬁ_'ﬁ_x_iﬁ@ -~ 5 TRQ
+RQ 5 HEE Il | e 6 5 Gin) gl | . —ro
v 1T B ge — e L ge T -
v R P %e o lxe |1 gel | 5
oy | o e e I | I e %Zﬁ E=
ov 10 = & 10 10 & & 10
TS SR u
| 12 ov
13
| 14 ov
| 15
| 16 ov
| 17
| 18 | +5V
| 19
L1200 | +sv
- ] h—x | SR

RS97-1024[]G[] Series

011




8.

WEEHFZEAICKDEIC

ABEDMFEHEEDN 2 AT T O FIMETHIG L TL 20,

BRI PMO-F2EHRL VIS —TILETX T 2ICHBI EVWHHEEBLE T,

BREFr RO - -1BE Ik
KL TLEEL,

Y

ABEOWMF T (RSE/ 7V 75X )P ELVWHDERLET,
([6-3. BMftFIE| &8R)

120)

et ICTEED H 55 &
RBETL >TSS,

MUEYEE/ Y- EXFTTIERCLZE 0,

RS97-1024[]G[] Series



9. 1%k

9-1. EEE~ U R A —ILEREAR

HHRIEE RS97-1024EGD Series RS97-1024EGA Series RS97-1024NGA Series
HHiES TV a— YY) TIES (4% EIA-422 HEHL)

7 — 4R CIERRE (B ) BRELER 7 7F o (BR) BRI

E— g R L

Bt i s (MR £V %)

ik (20 CI2C) +25 1

3 fARE 23 bit i)

[Bl45 75 1] CW (s, SMEHAXIZ ABS "0" i & & 12tk )

IDESEIL T~ 5000 min™

A T 90 P i 0~+60 C

PRAT I 5 A P -10 ~ +60 C

[REi0] 150 m/s” (50 Hz ~ 2000 Hz)

it i % 1000 m/s® (11 ms)

TR P65

BB DC 4.75 - 5.25 V ( r — 7 L4502 C)

THEE (120 QF%5EF) 330 mA LI 300 mA

NG i

2 ALY (BIENLH EADIREE - 10 ms)

IR IR ;-é%ﬁﬁ%% CEBIEAIM A EOBERE, B 2 — XM & 2 DGR IR RO & R L

V45| A RS ¢ 96 (%) % 20.15 (JEX ) mm ¢ 180 (%) x 19 (B X ) mm

r—J7LE Im/2m (GERHOE Yy — 7 AHHTHRE3Om £7T) Im/2m/3m(ZERHD
Bir - 7Ll TRE
30m £T)

whaxsx HAM 223 1 T3¢ (B ) BB 2 % 2 4 2+ 2 JN1HS10PL2

S HAM 2293 1 T3 (k) BB 2 %~ % * 2 JN2DS10SL2-R ( Hfta 1o &)

EEE— 2V b 9x10™ kgm* LI F 8.8 x 107 kg'm” LA

B 2kg IR (v—%:02kg/ Z7—4:1.7 kg) ¥34kg (T —4:06kg/

AT — 4% :28kg)

CZICRRELEATR. FEEKERETRZENMHNET,

RS97-1024[]G[] Series

n13



9-2. ARV ZE Lk

Jx742E> No. | HAFEE

© [0 | N ||| = |[w (DD |-

+5V

—
(e

ov

T

(3F) 44: 7NWMTF1TLy 7 XAR

9-3. F—J IVt

s =7 n Yl ERLZWTS 20, Kl / e RAETE A< B D 7,

ANy Rr—T0, EEREG T — Tk iz,

ax 7 RFEREERTT, 2F—-%, v —%

IZHRS YT AR, EARET 2 REMEA 5 D 3D T, HHRWISHERL TS 2 X,

9-3-1. Ny K5 —TJ I

r—J7)LE Im/2m/3m (3m:RS97-1024NGA DA )
e HER P55 — 70 (P58 ) (i THRE 30 m £ CIER AR
Q%A JNIHS10PL2 ( HAMZE T3 (#k) AREL)

9-3-2. ERAEHT— T IV (FI5%)

B 30m T, RK2AF O EREL £7,

(R —7 0@ 1K, R —71® 1K)

ERAEGT— 7110

ERAEGT— 71O

r=I7nrE | GRIEEHEEREZ THRWEDE 2 X0,
LRSS Ny R =7 OfflAabE T30 m
aX R JN2DS10SL2-R JN2DS10SL2-R

( Biﬁﬁ%%%l%(ﬁ)%i@)

JN1IHS10PL2

( HAA 22 1 T3 (#R ) pREL)

( EIZIKTHE&“%E’E’*I%(**)%%)

ZE T (#) HAR (RS97-1024EGD)

36210-0100PL ({#/& 2 V — T & (Bk) BRHL)
ERad

TrF 7 (k) B (RS97-1024EGA /

RS97-1024NGA)

PCR-S20FS+ ( A% 5 13 (kK ) 3L

140

RS97-1024[]G[] Series



9-4. fTIE&A

RS97-1024EGD / RS97-1024EGA

ANATUFE A b M4x15 9K (w—2HfHH)
AVEVACO =SV 20 M 4 x 20 9K (27— 2HUHH)
PpE 4 M4 H 18 1]

FERE 2 18

AN — 140 pm 2%
RS97-1024NGA

ANATREFE AL b M6 x 16 9K (v —2HUIH)
AVEVACO =SV 20 M 6 %X 20 9K (27— 2HUHH)
e M6 H 18 1]

K2R 188

A= 250 um 1#%

RS97-1024[]G[] Series

n15



y

N
4

izt

10. 4t

1024EGA)

00— 2 KE 96 mm (RS97-1024EGD / RS97

ww : Ty

(SHZE) WW G| Fzk HFN[/ZE

Sy

\

BV

W8S BLWW O GLYES
A L—LNRIGRS—~

(=4

INXT

Y2 X6

(3vr) 21d0LSHENP
p273 72

(Few) EPU A

oGClL

o/wfv

oW.NN

00

L00

(xzcdn4Bs—0-BFE)

g-aE4g

>l
>

S9olo

Lo~
0

5+ L69

€00F 71°0

(€007 G1°07)

0I5}

(*§) 94 00¢2

RS97-1024[]G[] Series

16 1)



ww T

€0'0FS

NNEA: |

N

272

131N

(EHHEE—O)

) syoreP
£807¢

0
Lo+

( SZO’g =

¥9'6

08l

8W X

O— 2 AZ 180 mm (RS97-1024NGA)

R (Een BOU A
5
Zo\®
v €
It
9
-
B .
NE]
o g
o Lox 55
Y «\
y \\ v //\4!
20
2
& *
7 (8W)
(B 2E) WW OZFL =+ L HEN/ZE
WOLSE WW 8 LL4ENS
(V) T1dOLSHLNS WE—LRIERA—7%
YAL e

n17

RS97-1024[]G[] Series



18 1) R$97-102401G[] Series



Safety Precautions

Magnescale Co., Ltd. products are designed in full consideration of safety. However, improper
handling during operation or installation is dangerous and may lead to fire, electric shock or other
accidents resulting in serious injury or death. In addition, these actions may also worsen machine
performance.

Therefore, be sure to observe the following safety precautions in order to prevent these types of
accidents, and to read these “Safety Precautions” before operating, installing, maintaining,
inspecting, repairing or otherwise working on this unit.

Warning indication meanings

The following indications are used throughout this manual, and their contents should be
understood before reading the text.

/\ Warning

Failure to observe these precautions may lead to fire, electric shock or other accidents resulting in
serious injury or death.

/\ Caution

Failure to observe these precautions may lead to electric shock or other accidents resulting in
injury or damage to surrounding objects.

Symbols requiring attention

A A A A

CAUTION

FIRE ELECTRICAL FINGER JAM

Symbols prohibiting actions

®

DO NOT
DISASSEMBLE

Symbols specifying actions

e

UNPLUGGING

RS97-1024[]G[] Series

€ (1)



/\ Warning

Do not use with other than the specified power voltage.
Do not use the rotary magnescale with other than the indicated
power voltage.

Do not install with wet hands.
Do not perform installation work with wet hands.

Do not disassemble.
Do not open the stator to disassemble or modify the unit.

/\ Caution

Ensure work safety.
Be sure to check the machine and device condition to ensure
work safety before working on the machine.

Do not perform any work with the power still supplied.
Be sure to cut off the power supply or other drive sources before
proceeding with the work.

Take care not to catch your fingers.
@i When turning on the power supply or other drive sources, take care

not to catch your fingers in the peripheral machines and devices.

General precautions

Failure to observe this
precaution may result
in burns or electric
shock.

Failure to observe this
precaution may result
in electric shock.

Failure to observe
this precaution may
result in injury.

*The internal circuits may
also be damaged.

Failure to observe
this precaution may
result in injury.

Failure to observe this
precaution may result
in burns or injury.

Failure to observe
this precaution may
result in injury.

When using Magnescale Co., Ltd. products, observe the following general precautions along with those given

specifically in this manual to ensure proper use of the products.

o Before and during operations, be sure to check that our products function properly.

o Provide adequate safety measures to prevent damages in case our products should develop malfunctions.

o Use outside indicated specifications or purposes and modification of our products will void any warranty of the functions

and performance as specified of our products.

o When using our products in combination with other equipment, the functions and performances as noted in this manual

may not be attained, depending on operating and environmental conditions.

(2) B

RS97-1024[]G[] Series



RS97-1024[]G[] Series

Contents

1.

1-1.
1-2.
1-3.
1-4.

6.

6-1.
6-2.
6-3.

9.

9-1.
9-2.
9-3.

9-4.

10.

Product Overview cesnnee 1
Overview
FRALULES ..ttt ettt
System CONfIGUIAtION ......cuuvveuermiereeeriereeri et seeaene 1
MOAEL NAIME ...eueiniireieirteie ettt ettt sttt ettt 1
Name and Function of Each Part ceveeens 2
Handling Precautions . 3
Output Signal (Serial Output) 4
Signal SPECIfICAtIONS.......ucvuverererericiriceneieieieire e naeeasnaesseasaeani 4
Controller Connection SpecifiCations.........c.ecveeurereeeureneueireneuerreneeseseeiesreeseesenenees 4
Power Supply 5

Rotary Magnescale Installation

Installation Dimensions and Tolerance
Installation PreCaUtiON ........cccceueveveveieieceicie ettt sessanas
Installation PrOCEAUTE .......ovveeviririririccccceeee et eaes 8
Example of Wiring Connections 10
Troubleshooting 12
Specifications 13
Rotary Magnescale Specifications............cceuciiiniininciniiiceneiciiins 13
Output Connector Pin SPecifications ..........eeveueereererrersirerseeesesneeeresseeesesseaeens 14
Cable SPeCcifiCations... ...ttt seaebeen 14
9-3-1.  Head Cable.......cccoueeieircceceeeeeeeee et anas 14
9-3-2. Extension Connection Cables (sold separately) ........cccccecvuurerncuncc. 14
A LCCESSOTIES. c.nvuiiiitrieireeertee sttt ettt ettt b e e et e bt se s e esneaes 15
Outside Dimensions 16

(E) i



s RS97-1024[JG[] Series
11 (E)



1. Product Overview

1-1. Overview

This rotary magnescale is a rotation position-detection unit that is designed for machine tools. Itis a rotor-
stator separated-type of high-accuracy rotary absolute magnescale, and is a serial communication model
that can communicate with a Mitsubishi Electric or FANUC controller.

1-2. Features

o Magnetic detection system for superior environmental resistance from condensation and other effects

« Large through holes are provided in the inside diameter of the rotor for easy cable routing

« Slim total height design including the rotor and stator

o Two detection heads incorporated for high accuracy

o The unit contains an interface chip that enables communications with a Mitsubishi Electric controller
or a FANUC controller, so it can be directly connected to each of the controller

1-3. System Configuration

Extension
connection cable

Rotary Magnescale
RS97-1024EGD

Mitsubishi Electric controller

Rotary Magnescale
RS97-1024EGA
RS97-1024NGA

Extension
connection cable

FANUC controller

1-4. Model Name
RS 97 —1024]laGl] 0]

[ Cablelength (01:1m, 02:2m, 03:3m¥*)

Communication protocol specification
(A : FANUC, D : Mitsubishi Electric)

Resolution : 23 bit output

— Rotor inside diameter (E: 96 mm, N: 180 mm)

* 03 : only RS97-1024NGA

RS97-1024[]G[] Series

®1



2.

Name and Function of Each Part

@ Rotor

(® Output connector

@ stator Illustration : RS97-1024NGA

®

2 (E)

Rotor
An absolute signal for detecting the absolute position and an incremental signal are recorded to the
special magnetic material of the detection surface.

Stator
The stator incorporates MR elements for high-accuracy magnetic detection and amplifier circuits
including a specially-designed Magnescale Co., Ltd. LSI.

Output connector
This enables connection with a Mitsubishi Electric or FANUC controller when using an extension

connection cable.

RS97-1024[]G[] Series



3. Handling Precautions

Be sure to observe the following safety precautions in order to maintain the product’s functions and performance.

o Be absolutely sure to use a rotor and stator with the same serial number in combination.
+ The output connector is made of metal. When handling it, do not knock it against the rotor and stator.

Magnetic surface of rotor

o Do not bring magnets or other magnetically charged objects near the magnetic surface of the rotor.
Doing so may destroy the magnetic recording.

o Take care not to scratch or damage the magnetic surface.

o Do not knock the metal or other hard objects against the magnetic surface.

o Use aclean cloth, etc. to wipe the surface gently when cleaning it. Do not use any organic solvents other
than alcohol. Even when using alcohol to clean the surface, simply wipe it gently.

Detection surfaces of stator detection heads

» Do not bring magnets or other magnetically charged objects near the detection surfaces of the detection
heads. Doing so may destroy the magnetic recording.

o Take care not to scratch or damage the thin metal film covers of the detection surfaces or subject them
to external force.

o Do not knock the metal or other hard objects against the detection surfaces.

o When placing the stator in position, do not place it with the detection surfaces face-down.

« Use a clean cloth, etc. to wipe the surfaces gently when cleaning them. Do not use any organic solvents
other than alcohol. Even when using alcohol to clean the surfaces, simply wipe them gently.

Magnetic objects
S%{ 2)

N
Keep magnetic objects away.

Use a rotor and stator with the
same serial number in combination
Detection surfaces

Magnetic surface

Output connector
(made of metal)

Keep away fom the

rotor and stator. Stator

Do not use any organic
Wipe gently with a cloth solvents other

containing alcohol. than alcohol.

Illustration : RS97-1024EGD

Handling precautions

When storing or transporting the unit
o Store or transport the unit using the packaging materials in which the product was shipped.

RS97-1024[]G[] Series

(B)3



4. Output Signal (Serial Output)

4-1. Signal Specifications

RS97 performs data communication with a controller using bidirectional absolute serial communication
protocol.

[When seen from the direction

shown in the right figure]
Addition count when stator is fixed
and rotor is rotating clockwise

Illustration : RS97-1024NGA

4-2. Controller Connection Specifications

When connecting to a controller, be sure to follow the connection procedure of the controller manufacturer.
(See section 7, “Example of Wiring Connections.”)

4 (E)

RS97-1024[]G[] Series



5. Power Supply

The power is supplied from the Mitsubishi Electric or FANUC controller.

RS97-1024EGD

Compliant only with models connectable with a Mitsubishi Electric controller

RS97-1024EGA

Compliant only with models connectable with a FANUC controller

RS97-1024NGA

Compliant only with models connectable with a FANUC controller

RS97-1024[]G[] Series

()5



6. Rotary Magnescale Installation

6-1. Installation Dimensions and Tolerance

Ensure that the rotary magnescale installation surface dimensions and tolerance have the values shown in

the figure below.

For a rotor inside diameter of 96 mm (RS97-1024EGD/RS97-1024EGA)

2104 +0.1

/002
//]0.02 |B]

©20.15 +0.03

4‘5 0.02
R0.2 or less

o

296 S
0.05 |A
100) ©[0.05A]
2192 0.1 : Rotation center
Unit: mm
Installation surface specification figure
For a rotor inside diameter of 180 mm (RS97-1024NGA)
(¢207.3)
/710.02
//]0.02 [B] ¢1923
— $180%°
— 0.05 |A
i[Ol ©loos [a
g /Q/ R0.2 or less
+H —_
§ 2 9-M6
9-Mé6

(¢208.3)

Z.\%

$328.3

(¢340)

*1 Adjust so that the unevenness between the rotor and stator installation surfaces is 0.1 mm or less.

: Rotation center

Unit: mm

6 (F)

Installation surface specification figure

RS97-1024[]G[] Series



6-2. Installation Precaution

o Ifthe surface of the rotary side where the rotor of the rotary magnescale will be installed or the surface
of the stationary side where its stator will be installed is coated with paint or some other substance,
remove the coating in order to ensure conductivity between the rotary magnescale and machine.

 Beforeinstalling the rotary magnescale, be sure to check that the dimensional tolerance of the installation
surface and machine shaft are within the standards. If the installation dimensional tolerance is not
within the standards, the required accuracy will not be obtained and the rotary magnescale can be
damaged.

o This product is compliant with the degree of protection IP65, but be sure to protect it from coolant,
chips, etc. Otherwise, malfunctioning may result.

« Do not apply an external force to the detection surface of the stator or the rotor magnetic surface, and
do not bring magnets or other objects with a strong magnetic field near them.

« The serial number of the rotor and stator is marked on each part. Be absolutely sure to use a rotor and
stator with the same serial number in combination.

 The output connector is made of metal. When handling it, do not knock it against the rotor and stator.
Otherwise, the rotor and stator may be damaged.

o Install the unit correctly by referring to the installation dimensions figure and the installation procedure.
If the unit fails to work properly even after it has been installed correctly, contact our service department.

o The reference point of the rotary magnescale (the position where the absolute value is zero) is where the
screws at the uneven location (22.5 degrees) among the nine installation screws of the rotor and stator

are aligned within +2 degrees. (See Section 10. “Outside Dimensions.”)

Reference point

. output position
lllustration : RS97-1024NGA (+2 degrees)

R$97-1024]G[] Series (E)7



6-3. Installation Procedure

Checking the rotary magnescale installation surface
1 Check that there are no indentations, rust, or scratches on the machine shaft where the rotary
magnescale will be installed. Completely wipe off any dust and dirt on the machine shaft.

Installing the rotary magnescale stator

2 After temporarily securing the rotary magnescale stator using the supplied hexagonal socket-head cap
screws, adjust it so that it has a concentricity of 0.02 mm or less with the rotary shaft, and then tighten
up the screws. After tightening up the screws, check the concentricity again. Check it using a dial test
indicator or other such tool.

Rotor inside diameter | Model Screws (supplied) | Flat washers (supplied) | Tightening torque
96 mm RS97-1024EGD | M4x20 (9) for M4 (9) 2.5N'm

96 mm RS97-1024EGA | M4x20 (9) for M4 (9) 2.5 N'm

180 mm RS97-1024NGA | M6x20 (9) for M6 (9) 9 N'm

For a rotor inside diameter of 96 mm (RS97-1024EGD/RS97-1024EGA)

Stator

Detection surface Detection surface
% \ ‘ ©[0.02]A
| 2192 +0.1 |
(2200)

Unit: mm

For a rotor inside diameter of 180 mm (RS97-1024NGA)

ﬁ Stator
-

\

|

M6 x 16 (supplied)

Detection surface ==<+—— Flat washer (supplied)

)

\'7zzz:

Detection surface

predionauace

S
R

(2208.3)

8328.3

(2340)

Unit: mm

Adjusting the clearance of the rotary magnescale stator and rotor
3 Before temporarily securing the rotor to the rotary-side installation surface, check that the rotor
magnetic surface does not contact the stator detection surface.

4  Adjust the concentricity of the rotor with the rotary shaft to 0.02 mm or less. Check the concentricity
using a dial test indicator or other such tool.

8 (F)

RS97-1024[]G[] Series



Temporarily secure the rotary magnescale rotor to the rotary-side installation surface using the
supplied hexagonal socket-head cap screws, and adjust and check that the clearance between the stator
detection surfaces and the rotor magnetic surface is the corresponding value in the table below.

Rotor inside diameter | Model Screws (supplied) |Flat washers (supplied) |Clearance

96 mm RS97-1024EGD | M4x15 (9) for M4 (9) within 0.14 +0.03 mm
96 mm RS97-1024EGA | M4x15 (9) for M4 (9) within 0.14 £0.03 mm
180 mm RS97-1024NGA | M6x16 (9) for M6 (9) within 0.25 £0.05 mm

For a rotor inside diameter of 96 mm (RS97-1024EGD/RS97-1024EGA)

2165 @

2104 +0.1

Magnetic H Rotor
surface —
\

20.14 +0.03
(20.15)

N Nk\ Stator

il

Unit: mm

Installation dimensions figure

For a rotor inside diameter of 180 mm (RS97-1024NGA)

M6 x 16 (supplied)

Rotor ﬁ
=

Magnetic surface ==— Flatwasher
(supplied)

Magnetic surface

%

) B

Installation dimensions figure

« Use the supplied plastic spacers for checking and adjusting the clearance. Use only the supplied spacers
and no others.

o The rotor is made of aluminum so do not subject it to strong external forces. No guarantees for the
functions and performance of the rotary magnescale can be made if the rotor becomes deformed.

Installing the rotary magnescale rotor
6 Secure the rotor by tightening up the screws that were temporarily secured in step 5. After tightening
up the screws, check the concentricity again. Check it using a dial test indicator or other such tool.

Rotor inside diameter | Model Tightening torque
96 mm RS97-1024EGD |2.5 N'm

96 mm RS97-1024EGA [2.5N'm

180 mm RS97-1024NGA |9 N'm

RS97-1024[]G[] Series

(E)9



7. Example of Wiring Connections

Mitsubishi Electric specifications (RS97-1024EGD)

To the Mitsubishi Electric controller

Extension connection cables D Extension connection cables @
Japan Aviation Electronics Industry Japan Aviation Electronics Industry Japan Aviation Electronics Industry 3M
JN2DS10SL2-R JNTHS10PL2 JN2DS10SL2-R 36210-0100PL
Signal name PIN No. PIN No. PIN No. PIN No. Signal name
) ] Gray LN\ .~ Gray ] ] Gray  , ~ Orange ~, 5V
+SD 5 Orange | | Orange 5 5 Orange | | ><Gray | 2 ov
Shad | 5 jued ] — shield 15 3 |t 3 +RQ
. | P | | [ ==
o[ ey e e S =
+RQ 6 Red Red 6 6 Red >@ite 5
ov 7 Black Black 7 7 Black Black 7 +SD
5V s Violet Violet s 3 Violet Violet s _sD
5V 9 Green . Green 9 9 Green Green , 9
ov 10 Brown L 1__Brown 10 10 Brown ; Brown 10
- —_———— — — — — ] Case Shield

10 () R$97-1024(1G[] Series




FANUC specifications (RS97-1024EGA/ RS97-1024NGA)

To the FANUC controller

]
Extension connection cables (D Extension connection cables @
Japan Aviation Electronics Industry Japan Aviation Electronics Industry  Japan Aviation Electronics Industry Honda Tsushin Kogyo
JN2DS10SL2-R JNTHST0PL2 JN2DS10SL2-R PCR-S20FS+
Signal name  PIN No. PIN No. PIN No. PIN No.  Signal name

—D ] Gray | —\l | —\l Gray ] ] Gray | —\l Orange | —\l ] )

) 5 Orange Orange 3 5 Orange ><Gray 5 _sD
Shield 3 [ehield j \I— shield 5 3 |eneld 3
4 | | 4 4 | 4

_RQ 5 White ﬁ ﬁ White S 5 White |, -~ Red =~ 5 +RQ

+RQ P Red Red 6 P Red | | Xﬁ\ite | | 6 _rRQ
ov 7 Black % % Black 7 7 Black Black 7
5V s Violet Violet 3 s Violet Violet 8

45V 9 Green Green 9 9 Green Green |\I\| 9 45V
ov 10 Brown Brown 10 10 Brown Brown 10
- —— —\[ 11

| 12 ov
13

| 14 oV
| 15

| 16 ov
| 17

| 18 +5V
| 19

— 20 +5V

| —————— Case Shield

R597-1024]G[] Series | 1



8. Troubleshooting

If a problem with the rotary magnescale is suspected, take the steps below to resolve the problem.

Check that the cables and connectors used to connect the unit and controller
do not have any problem.

If a problem is found,
replace the part concerned.
Y
Check whether the unit has been installed properly (check the concentricity
and clearances).

(Refer to 6-3 “Installation Procedure.” )

If there is a problem with the installation,
perform the necessary adjustments.

Contact our sales or service department.

12 (E) R$97-102401G[] Series



9. Specifications

9-1. Rotary Magnescale Specifications

Item

RS97-1024EGD Series | RS97-1024EGA Series

| RS97-1024NGA Series

Output signal

Absolute serial (Full duplex: Compliant with EIA-422)

Data format

Mitsubishi Electric specifications | FANUC specifications

Motor temperature detection

Not available

Detecting method Magnetic (MR sensor)
Accuracy (at 20 °C) +2.55s
Resolution 23 bit output

Revolution direction

Clockwise (Addition direction given along with absolute “0” position on outside dimensions)

Response revolution 5000 min™
Operating temperature range 0°Cto +60°C
Storage temperature range -10°Cto +60 °C

Vibration resistance

150 m/s* (50 Hz to 2000 Hz)

Shock resistance

1000 m/s? (11 ms)

Degree of protection

1P65

Power supply voltage

DC 4.75 - 5.25 V (at cable connection end)

Current consumption
(at 120 Q) terminal)

330 mA or less

300 mA

Inrush current

2 A max. (when the power supply rising time is 10 ms)

Power supply protection

In the case of errors such as a reverse-connected power supply or over-voltage, the internal fuse

is cut to protect the power being supplied and wiring.

Dimensions 96 mm (inner diameter) X 20.15 mm (thickness) 180 mm (inner diameter) X
19 mm (thickness)
Cable length 1 m/2m (max. total length of 30 m using extension connection cables) | 1 m /2 m /3 m (max. total

length of 30 m using extension
connection cables)

Output connector

Male connector JN1IHS10PL2 by Japan Aviation Electronics Industry

Compliant connector

Female connector JN2DS10SL2-R by Japan Aviation Electronics Industry (compatible connector)

Moment of inertia

9 x 10~*kg-m?or less

8.8 x 10~ kg-m?or less

Mass

2 kg or less (rotor: 0.2 kg, stator: 1.7 kg)

Approx. 3.4 kg (rotor: 0.6 kg,
stator: 2.8 kg)

The information here is subject to change without notice.

RS97-1024[]G[] Series

(E) 13



9-2. Output Connector Pin Specifications

Connector pinno. | Output format: Full duplex

-SD

+SD

Shield

-RQ

+RQ

ov

+5V

O [0 | N[N |V [ | W [N~

+5V

—
o

ov

9-3. Cable Specifications

« Donotcutorextend the cables. Doing so will void any guarantee of the unit’s functions and performance.

o The connectors for both the head cable and extension connection cables are made of metal. Handle

them carefully since they may dent or damage the stator or rotor if they knock hard against these parts.

9-3-1. Head Cable

Cable length Im/2m/3m (3m:only RS97-1024NGA)
Extension Extension up to a total length of 30 m enabled using extension connection cables (sold separately)
Connector JN1HS10PL2 (made by Japan Aviation Electronics Industry)

9-3-2. Extension Connection Cables (sold separately)

Connection is guaranteed up to a total cable length of 30 m and a maximum of two cables.

(Extension connection cable (D: x1; Extension connection cable 2): x1)

Extension connection cable D

| Extension connection cable @

Cable length | (for details, contact our sales department)
Total length 30 m when combined with the head cable
Connector JN2DS10SL2-R JN2DS10SL2-R

(made by Japan Aviation Electronics Industry)

JN1HS10PL2
(made by Japan Aviation Electronics Industry)

(made by Japan Aviation Electronics Industry)

Mitsubishi Electric specifications (RS97-1024EGD)
36210-0100PL (made by Sumitomo 3M)

or
FANUC specifications
(RS97-1024EGA/RS97-1024NGA)
PCR-S20FS+ (made by Honda Tsushin Kogyo)

14 (g)

RS97-1024[]G[] Series



9-4, Accessories

RS97-1024EGD/RS97-1024EGA

Hex. socket-head cap screws M4 x 15 9 (used for installing the rotor)
Hex. socket-head cap screws M4 x 20 9 (used for installing the stator)
Flat washers for M4 18
Accuracy chart 1
Spacers 140 pm 2

RS97-1024NGA
Hex. socket-head cap screws M6 x 16 9 (used for installing the rotor)
Hex. socket-head cap screws M6 % 20 9 (used for installing the stator)
Flat washers for M6 18
Accuracy chart 1
Spacers 250 pm 2

RS97-1024[]G[] Series

(E) 15



iImensions

10. Outside D

1024EGD/RS97-1024EGA)

For a rotor inside diameter of 96 mm (RS97

ww s jun

(s92169p ¢F) uonisod 1ndino juiod duaia)Yy

(90e(d Ul PaIND3S UBYM) WWI G| snipes Bulpuag wnwiuly
2102-g punodwo) ‘ww 9°G *xoiddy : Ja19Welp |eusalxy

Vv Modie
el

3|ged 1no-buimelp pap|a1ys

uonoes g-g

(8] z00]@

100]0}— 100]O]

>

Solo

3V T1dOLSHLNS
[9POW 103123UU0D) /

% 969
|
|
\

Lo~
0

5+ L69

(10301 pUR 32B4INS UOIIDIDP UDIMIS ddURIE|D) vl

€00¥F 710

(€007 G1°07)

0[]

(®§) 94 00¢2

RS97-1024[]G[] Series

16 (E)



wuw :uun

€0'0FS |

)
272

syoveod
€80

)

0
0
Lo+

§T0°0

(

3

(@2e44NS UOIIE||RISUI 1010Y)

9’6

01 0819

S

' 069

(8514)

ter of 180 mm (RS97-1024NGA)

ide diame

nsi

For a rotor

6L

6C

(3Vr) TT1dOLSHLNF
|9pow 101d3uuo)

_ (s9a169p gF) uonisod
1ndino julod 95ualaey

a

B4

(92e[d Ul PRINIIS UBYM) WW T :
9402-0| punodwo) ‘ww g’/ ‘xoiddy :

snipeJ buipuagq wnwiuly
J919Welp |euIdIX]
9|qed Ino-buimelp papalys

(E) 17

RS97-1024[]G[] Series



18 (F) R$97-102401G[] Series



SicherheitsmafBnahmen

Bei dem Entwurf von Magnescale Co., Ltd. Produkten wird groBter Wert auf die
Sicherheit gelegt. UnsachgemédBe Handhabung wahrend des Betriebs oder der
Installation ist jedoch gefahrlich und kann zu Feuer, elektrischen Schlagen oder anderen
Unféllen flhren, die schwere Verletzungen oder Tod zur Folge haben kénnen. Dariiber hinaus kann
falsche Behandlung die Leistung der Maschine verschlechtern.

Beachten Sie daher unbedingt die besonders hervorgehobenen Vorsichtshinweise in
dieser Bedienungsanleitung, um derartige Unfalle zu verhiiten, und lesen Sie die folgenden
SicherheitsmaBnahmen vor der Inbetriebnahme, Installation, Wartung, Inspektion oder Reparatur
dieses Gerdtes oder der Durchflihrung anderer Arbeiten durch.

Bedeutung der Warnhinweise

Bei der Durchsicht dieses Handbuchs werden Sie auf die folgenden Hinweise und Symbole stoRen.
Machen Sie sich mit ihrer Bedeutung vertraut, bevor Sie den Text lesen.

/\ Warnung

Eine Missachtung dieser Hinweise kann zu Feuer, elektrischen Schlagen oder anderen Unfallen
fuhren, die schwere Verletzungen oder Tod zur Folge haben kénnen.

/\ Vorsicht

Eine Missachtung dieser Hinweise kann zu elektrischen Schldagen oder anderen Unfallen fihren, die
Verletzungen oder Sachbeschddigung der umliegenden Objekten zur Folge haben kdnnen.

Zu beachtende Symbole
VORSICHT FEUER ELEKTRISCHER EINKLEMMEN DER

Symbole, die Handlungen verbieten

®

NICHT
ZERLEGEN

Symbole, die Handlungen vorschreiben

e

STECKER
ABZIEHEN

R$97-102401G[] Series @) (1)



>

Warnung

AusschlieB3lich mit der angegebenen Netzspannung
betreiben.

Betreiben Sie das Dreh-Magnescale auf keinen Fall mit einer
anderen als der angegebenen Netzspannung.

Die Installation nicht mit nassen Hinden vornehmen.
Fihren Sie Installationsarbeiten auf keinen Fall mit nassen
Handen aus.

@ B P

Das Gerit nicht zerlegen.
Unterlassen Sie jeden Versuch, den Stator zu 6ffnen, um ihn zu
zerlegen oder umzubauen.

/\ Vorsicht

Die Arbeitssicherheit gewdhrleisten.

Uberpriifen Sie unbedingt den Zustand von Maschine und
Vorrichtungen, um die Arbeitssicherheit zu gewahrleisten, bevor
Arbeiten an der Maschine ausgefiihrt werden.

Keinerlei Arbeiten bei eingeschalteter Stromzufuhr ausfiihren.
Schalten Sie vor Arbeitsbeginn unbedingt die Stromzufuhr oder
andere Antriebsstromquellen aus.

> @ P

Ein Einklemmen der Finger sorgfaltig vermeiden.
Achten Sie beim Einschalten der Stromzufuhr oder anderen
Antriebsstromquellen darauf, dass Sie sich nicht die Finger in
peripheren Maschinen und Vorrichtungen einklemmen.

Allgemeine VorsichtsmaBnahmen

Anderenfalls
besteht die Gefahr
von Feuer und
elektrischem Schlag.

Bei Missachtung
besteht die Gefahr
von elektrischem
Schlag.

Bei Missachtung
besteht die Gefahr

von Verletzungen.

* AuBlerdem kénnen die
internen Schaltungen
beschadigt werden.

Bei Missachtung
besteht die Gefahr
von Verletzungen.

Bei Missachtung
besteht die Gefahr
von Verbrennungen
oder anderen
Verletzungen.

Bei Missachtung
besteht die Gefahr
von Verletzungen.

Beachten Sie bei der Verwendung von Magnescale Co., Ltd. Produkten die folgenden allgemeinen sowie die in dieser Anleitung
besonders hervorgehobenen Vorsichtsmafinahmen, um eine sachgerechte Behandlung der Produkte zu gewahrleisten.

o Vergewissern Sie sich vor und wihrend des Betriebs, dass unsere Produkte einwandfrei funktionieren.

o Sorgen Sie fiur geeignete Sicherheitsmafinahmen, um im Falle von Gerédtestorungen Schédden

auszuschlieflen.

« Wenn das Profukt modifiziert oder nicht seinem Zweck entsprechend verwendet wird, erlischt die Garantie fiir die angegebenen
Funktionen und Leistungsmerkmale.
o Bei Verwendung unserer Produkte zusammen mit Geraten anderer Hersteller werden je nach den Umgebungsbedingungen die

in der Anleitung beschriebenen Funktionen und Leistungsmerkmale méglicherweise nicht erreicht.

(2) @

RS97-1024[]G[] Series



RS97-1024[]G[] Series

Inhalt

1.

1-1.
1-2.
1-3.
1-4.

4.

4-1.
4-2.

6.

6-1.
6-2.
6-3.

9.

9-1.
9-2.
9-3.

9-4.

10.

Produktiiberblick 1
UBETDIICK cvvvverveeceaeieeeieceseeisesese ettt ssse st s ssss s s ss st ssns 1
METKIMALE ..ttt 1
SYSteMKONTIGUIALION c...euceceeeeereereceeeceneieereneese e ssesaenaeeasesessessaenni 1
MoOdellbeZeiChNUNG.......coeveeeeirecieireceirec et seaene 1

Bezeichnungen und Funktionen der Teile .....cccceevnreccccnneeccees 2

Vorsichtshinweise zur Handhabung 3
Ausgangssignal (Serielle Ausgabe) 4
SignalsSpezifIKAtiONen .......cvveeeemieeecriec e 4
Steuergerit-Anschlussspezifikationen .........cceeceeercrnecenerneeenerneenerneenrenneeenne 4
Stromversorgung 5
Installation des Dreh-Magnescales wes 6
Installationsmafle und Mafltoleranzemn........couwveeucereceeerererneuneerseesesersesseserseseene 6

Vorsichtshinweise zur Installation

Installationsverfalren. ...
Verdrahtungsbeispiel «. 10
Storungsbeseitigung 12
Technische Daten 13

Spezifikationen des Dreh-Magnescales............cocoviiinininiininniieineinieiniinns 13

Ausgangsanschluss-Stiftbelegung...........ccocveeveirievciniencneencneeereecreneenes 14

KabelspezifiKationemn........ccc.euveeurincueiriiieiricieiecisree sttt seaeseen 14

9-3-1. KOPIKADEL ...oveieiiiciricecireieecreteectrcieee ettt sese e aseseeseesesenaes 14
9-3-2.  Verldngerungskabel (Sonderzubehor) ..., 14

ZUDENOT ... s 15

AuBBenabmessungen . 16

Qi



ii (G) RS97-1024[JG[] Series



1. Produktiiberblick

1-1. Uberblick

Bei diesem Dreh-Magnescale handelt es sich um ein Gerdt zur Erkennung der Drehposition von
Werkzeugmaschinen.  Dieses hochgenaue Dreh-Absolut-Magnescale in getrennter Rotor-Stator-
Ausfiihrung ist ein Modell, das auf serielle Kommunikation mit einem Mitsubishi Electric- oder FANUC-
Steuergerit ausgelegt ist.

1-2. Merkmale

« Magnetisches Abtastsystem fiir hervorragende Umweltbestindigkeit gegen Kondensation und andere
Effekte.

+ Grofe Durchgangsbohrungen im Innendurchmesser der Trommel fiir einfache Kabelfithrung.

o Flache Konstruktion mit Gesamthohe, einschlief3lich Rotor und Stator.

o Zwei eingebaute Abtastkopfe fiir hohe Genauigkeit

o Dieses Modell enthélt einen Schnittstellen-Chip, der eine Kommunikation mit einem Mitsubishi
Electric-Steuergerit oder FANUC-Steuergerit ermoglicht, so dass das Gerét direkt an das betreffende
Steuergerit angeschlossen werden kann.

1-3. Systemkonfiguration

Dreh-Magnescale
RS97-1024EGD

Verléangerungskabel Mitsubishi Electric-Steuergerat

Dreh-Magnescale
RS97-1024EGA
RS97-1024NGA

Verléngerungskabel FANUC-Steuergerat

1-4. Modellbezeichnung
RS97—10240c0I0

[ Kabellange (01:1m, 02:2m, 03:3m*)

Kommunikationsprotokoll-Spezifikation
(A: FANUC, D: Mitsubishi Electric)

Auflosung : 23-Bit-Ausgabe

L Rotor-Innendurchmesser (E: 96 mm, N: 180 mm)

* 03 : nur RS97-1024NGA

RS97-1024[]G[] Series

@1



2.

Bezeichnungen und Funktionen der Teile

@ Rotor

® Ausgangsanschluss

@ stator Abbildung : RS97-1024NGA

®

2 (G)

Rotor
Ein Absolutsignal zur Erfassung der Absolutposition und ein Inkrementalsignal sind auf das spezielle
magnetische Material der Abtastoberfliche aufgezeichnet.

Stator
Der Stator enthilt MR-Elemente fiir hochgenaue magnetische Abtastung und Verstirkerschaltungen
mit einem speziell konstruierten Magnescale Co., Ltd.-LSI.

Ausgangsanschluss
Dies ermdglicht einen Anschluss an ein Mitsubishi Electric- oder FANUC-Steuergerit iiber ein

Verlangerungskabel.

RS97-1024[]G[] Series



3. Vorsichtshinweise zur Handhabung

Bitte beachten Sie die nachstehenden Sicherheitshinweise sorgfiltig, um zu gewdhrleisten, dass das Gerit stets
einwandfrei funktioniert und seine Leistung unbeeintrachtigt bleibt.

o Achten Sie unbedingt darauf, eine Kombination von Rotor und Stator mit identischer Seriennummer zu verwenden.
o Der Ausgangsanschluss besteht aus Metall. Achten Sie bei der Handhabung des Ausgangsanschlusses darauf, dass
er nicht gegen den Rotor und Stator stoft.

Magnetische Oberfliche des Rotors

o Bringen Sie weder Magneten noch aufmagnetisierte Gegenstinde in die Nahe der magnetischen Oberfliche des
Rotors. Dadurch kann die magnetische Aufzeichnung zerstort werden.

o Achten Sie darauf, dass die magnetische Oberfliche nicht beschadigt wird.

o Sorgen Sie unbedingt dafiir, dass keine Metall- oder anderen harten Gegenstinde gegen die magnetische Oberfliche
stoflen.

« Verwenden Sie zum Reinigen der Oberfliche ein sauberes Tuch usw., um Staub oder Schmutz sacht abzuwischen.
Verwenden Sie auf8er Alkohol keine organischen Losungsmittel. Wischen Sie die Oberfliche auch beim Reinigen
mit Alkohol stets sacht ab.

Abtastflachen der Stator-Abtastkopfe

o Bringen Sie weder Magneten noch aufmagnetisierte Gegenstinde in die Néahe der Abtastoberflichen der
Abtastkopfe. Dadurch kann die magnetische Aufzeichnung zerstort werden.

o Vermeiden Sie sorgfiltig ein Zerkratzen oder eine Beschidigung der diinnen Metallfilmabdeckungen der
Abtastoberflichen, und iiben Sie keine externe Kraft darauf aus.

o Sorgen Sie unbedingt dafiir, dass keine Metall- oder anderen harten Gegenstinde gegen die Abtastflichen stofSen.

o Achten Sie darauf, dass die Abtastflichen nicht nach unten weisen, wenn Sie den Stator in Arbeitsstellung bringen.

« Verwenden Sie zum Reinigen ein sauberes Tuch, um Staub oder Schmutz sachte abzuwischen. Verwenden Sie aufler
Alkohol keine organischen Losungsmittel. Beim Reinigen mit Alkohol sachte abwischen.

Magnetische
Gegenstande
S%‘ 2)

N

Magnetische Gegensténde
fernhalten.

ine Kombination von Rotor und Stator
it identischer Seriennummer verwende

Magnetische Oberflache

Abtastflache

Stator

fernhalten.

Reinigung

Sacht mit einem mit Alkohol AuBer Alkohol keine

angefeuchteten Tuch organischen Lésungsmittel
abwischen. verwenden.
Abbildung : RS97-1024EGD

Vorsichtshinweise zur Handhabung

Vor Lagerung und Transport des Gerates
o Verpacken Sie das Gerit vor einer Lagerung oder einem Transport in seinen Original-Verpackungsmaterialien.

R$97-1024]G[] Series @3



4. Ausgangssignal (Serielle Ausgabe)

4-1. Signalspezifikationen

Die Datenkommunikation des Modells RS97 mit einem Steuergerit erfolgt unter Verwendung eines

bidirektionalen, absoluten seriellen Kommunikationsprotokolls.

[Aus der Richtung der Abbildung
rechts gesehen]

Additions-Zahlstand bei fixiertem

Stator und Drehung des Rotors

im Uhrzeigersinn

Abbildung : RS97-1024NGA

4-2, Steuergerat-Anschlussspezifikationen

Befolgen Sie beim Anschluss an ein Steuergerit unbedingt das vom Steuergeratehersteller vorgeschriebene
Anschlussverfahren. (Siehe Abschnitt ,,7. Verdrahtungsbeispiel )

4G

RS97-1024[]G[] Series



5. Stromversorgung

Die Stromversorgung erfolgt tiber das Mitsubishi Electric- oder FANUC-Steuergerit.

RS97-1024EGD | Gilt nur fiir Modelle, die an ein Mitsubishi Electric-Steuergerit angeschlossen werden kénnen.
RS97-1024EGA | Gilt nur fiir Modelle, die an ein FANUC-Steuergerit angeschlossen werden konnen.
RS97-1024NGA | Gilt nur fiir Modelle, die an ein FANUC-Steuergerit angeschlossen werden kénnen.

R$97-1024]G[] Series G5



6. Installation des Dreh-Magnescales

6-1. Installationsmafle und MaB3toleranzen

Stellen Sie sicher, dass die Abmessungen und Toleranzen der Dreh-Magnescale-Installationsfldche den in

der nachstehenden Abbildung gezeigten Werten entsprechen.

Fiir einen Rotor-Innendurchmesser von 96 mm (RS97-1024EGD/RS97-1024EGA)

2104 +0,1

4‘5 0,02

/10,02

920,15 +0,03

//10,02 [8]

R0,2 oder
weniger

296 4,

_

(2100)

2192 +0,1

©]005 A

: Drehungsmittelpunkt

Einheit: mm

Abbildung der Installationsflachen-Spezifikationen

Fiir einen Rotor-Innendurchmesser von 180 mm (RS97-1024NGA)

(8207,3)
/10,02
// 0,02 B‘ 2192,3
— 2180*°
¥ [Oloe2]
<

9,6410 05
(10)

9-M6

(2208,3)

©] 0,05 A

R 0,2 oder weniger

9-M6

Z.

©328,3

(2340)

/

*1 Nehmen Sie die Einstellung so vor, dass die Unebenheit zwischen den Rotor- und Stator-Installationsflichen

maximal 0,1 mm betragt.

: Drehungsmittelpunkt

Einheit: mm

Abbildung der Installationsflachen-Spezifikationen

6 (G)

RS97-1024[]G[] Series



6-2. Vorsichtshinweise zur Installation

o Falls die Oberfldche des fiir die Installation des Rotors des Dreh-Magnescales vorgesehenen rotierenden
Teils der Installationsfliche oder die Oberflache des fiir die Installation des Stators vorgesehenen
stationdren Teils der Installationsfliche lackiert ist oder einen anderen Uberzug aufweist, ist der
Lack oder Uberzug zu entfernen, um eine gute Leitfahigkeit zwischen dem Dreh-Magnescale und der
Maschine zu erhalten.

o Vergewissern Sie sich vor der Installation des Dreh-Magnescales, dass die Mafitoleranz der
Installationsflache und der Maschinenwelle innerhalb der Normen liegt.

Liegt die Mafitoleranz der Installationsfliche nicht innerhalb der Normen, wird die erforderliche
Genauigkeit nicht erzielt, und es besteht die Gefahr, dass das Dreh-Magnescale beschadigt wird.

o Dieses Produkt entspricht zwar der Schutzklasse IP65, doch muss es sorgfiltig vor Kithlmittel, Spanen
usw. geschiitzt werden. Anderenfalls besteht die Gefahr einer Funktionsstérung.

« Uben Sie keine externe Kraft auf die Abtastfliche des Stators oder die magnetische Oberfliche des
Rotors aus, und bringen Sie keine Magneten oder anderen Gegenstande mit starkem Magnetfeld in ihre
Nibhe.

o Rotor und Stator sind jeweils mit einer Seriennummer gekennzeichnet. Achten Sie unbedingt darauf,
eine Kombination von Rotor und Stator mit identischer Seriennummer zu verwenden.

o Der Ausgangsanschluss besteht aus Metall. Achten Sie bei der Handhabung darauf, dass der
Ausgangsanschluss nicht gegen den Rotor und Stator stofit. Anderenfalls konnen Rotor und Stator
beschadigt werden.

o Installieren Sie das Gerit korrekt unter Bezugnahme auf die Abbildung mit den Installationsmafien und
die Anweisungen zum Installationsverfahren. Falls das Gerit selbst nach korrekter Installation nicht
einwandfrei funktioniert, wenden Sie sich bitte an unseren Kundendienst.

o Der Referenzpunkt des Dreh-Magnescales (d. h. die Position, an der der Absolutwert Null betragt)
befindet sich an der Stelle, wo die Schrauben an der ungeraden Position (22,5 Grad) unter den neun
Installationsschrauben fiir Rotor und Stator innerhalb von +2 Grad fluchten. (Siehe Abschnitt ,,10.

Auflenabmessungen®)

Abbildung : RS97-1024NGA

Referenzpunkt-Ausgabeposition (+2 Grad)

R$97-1024]G[] Series Q7



6-3. Installationsverfahren

Uberpriifen der Installationsfliche des Dreh-Magnescales

1

Vergewissern Sie sich, dass die Maschinenwelle, an welcher das Dreh-Magnescale installiert wird, frei

der Maschinenwelle ab.

Installieren des Dreh-Magnescales

2 Nachdem Sie den Stator des Dreh-Magnescales mit den mitgelieferten Innensechskantschrauben

provisorisch befestigt haben, stellen Sie den Stator so ein, dass seine Rundlaufabweichung mit der
Drehwelle maximal 0,02 mm betragt, und ziehen Sie die Schrauben dann an. Nachdem Sie die
Schrauben angezogen haben, tiberpriifen Sie die Rundlaufabweichung erneut again. Fithren Sie diese

Priifung mit einer Messuhr oder einem dhnlichen Werkzeug aus.

von Vertiefungen, Rost und Kratzern ist. Wischen Sie etwaigen Staub und Schmutz vollkommen von

Rotor-Innendurchmesser | Modell Schrauben Unterlegscheiben Anzugsmoment
(mitgeliefert) | (mitgeliefert)

96 mm RS97-1024EGD | M4x20 (9) for M4 (9) 2,5N'm

96 mm RS97-1024EGA | M4x20 (9) for M4 (9) 2,5N'm

180 mm RS97-1024NGA | M6x20 (9) for M6 (9) 9 N'm

Fiir einen Rotor-Innendurchmesser von 96 mm (RS97-1024EGD/RS97-1024EGA)

Stator
Abtastflache

Abtastflache

S |
% %
| 9192 +0.1

_

(2200)

©10,02 |A

Einheit : mm

Fiir einen Rotor-Innendurchmesser von 180 mm (RS97-1024NGA)

ﬁ' Stator

=

Abtastflache ‘

foustiche

Abtastflache

1z

S

(¢208,3)

S

M6 x 16
(mitgeliefert)

==<—— Unterlegscheibe

(mitgeliefert)

$328,3

2%

(¢340)

Einheit: mm

Einstellen des Spiels von Stator und Rotor des Dreh-Magnescales

3

8(G)

Bevor Sie den Rotor provisorisch auf der Installationsflache des rotierenden Teils befestigen, priifen
Sie, dass die magnetische Oberfliche des Rotors nicht mit der Abtastfliche des Stators in Berithrung

kommt.

Stellen Sie den Rotor so ein, dass seine Rundlaufabweichung mit der Drehwelle maximal 0,02 mm

betragt. Fithren Sie diese Priifung mit einer Messuhr oder einem @hnlichen Werkzeug aus.

RS97-1024[]G[] Series



5 Befestigen Sie den Rotor des Dreh-Magnescales mit den mitgelieferten Innensechskantschrauben
provisorisch auf der Installationsfliche des rotierenden Teils, und nehmen Sie die Einstellung so vor,
dass der Abstand zwischen den Abtastflichen des Stators und der magnetischen Oberfliche des Rotors
dem in der nachstehenden Tabelle angegebenen Wert entspricht.

Rotor-Innendurchmesser | Modell Schrauben Unterlegscheiben Abstand

(mitgeliefert) | (mitgeliefert)
96 mm RS97-1024EGD | M4x15 (9) for M4 (9) Maximal 0,14+0,03 mm
96 mm RS97-1024EGA | M4x15 (9) for M4 (9) Maximal 0,14+0,03 mm
180 mm RS97-1024NGA | M6x16 (9) for M6 (9) Maximal 0,25+0,05 mm

Fiir einen Rotor-Innendurchmesser von 96 mm (RS97-1024EGD/RS97-1024EGA)

2165
0,02 |A
2104 +0,1 ©

§~ Magnetische Rotor —
;_' Oberfldche s 2
B tator =)
2 \ N\ 8
[} i 'l_il

dl
.

>

B

Einheit : mm

Installationsmalie

Fiir einen Rotor-Innendurchmesser von 180 mm (RS97-1024NGA)

M6 X 16 (mitgeliefert)

Rotor \ﬁ

Magnetische Oberflache ==— Unterlegscheibe
(mitgeliefert)

iz \

ﬁ Magnetische Oberflache
=

B

Einheit: mm

Installationsmafie

» Verwenden Sie die mitgelieferten Kunststoff-Einstellscheiben zur Priifung und Einstellung des Spiels.
Verwenden Sie keine anderen als die mitgelieferten Einstellscheiben.

« Dader Rotoraus Aluminium gefertigt ist, darf er keinen starken externen Kréaften ausgesetzt werden. Bei
einer Deformierung des Rotors konnen die Funktionen und Leistungsmerkmale des Dreh-Magnescales

nicht mehr garantiert werden.

Installieren des Rotors des Dreh-Magnescales
6 Sichern Sie den Rotor durch Anziehen der in Schritt 5 provisorisch befestigten Schrauben. Nachdem
Sie die Schrauben angezogen haben, tiberpriifen Sie die Rundlaufabweichung erneut. Fithren Sie diese

Priifung mit einer Messuhr oder einem dhnlichen Werkzeug aus.

Rotor-Innendurchmesser | Modell Anzugsmoment
96 mm RS97-1024EGD |2,5 N'm

96 mm RS97-1024EGA |2,5N'm

180 mm RS97-1024NGA |9 N'm

R$97-1024]G[] Series @9



7. Verdrahtungsbeispiel

Mitsubishi Electric-Spezifikationen (RS97-1024EGD)

An Mitsubishi Electric-Steuergerat

Verldngerungskabel (D Verldngerungskabel @
Japan Aviation Electronics Industry Japan Aviation Electronics Industry Japan Aviation Electronics Industry 3M
JN2DS10SL2-R JNTHS10PL2 JN2DS10SL2-R 36210-0100PL
Signalbezeichnung  Pol Nr. Pol Nr. Pol Nr. Pol Nr.  Signalbezeichnung
~sD ] Grau | \l Grau ] ] Grau | ~ Orange ~ ] 5V
Orange Orange Orange >'<Grau
+SD 2 \I T - 2 2 T \[ 2 ov
Abschirmung 3 [Abschirmun Abschimung| 3 3 | Abschirmun 3 +RQ
4 ) | | ) 4 4 ) | | 4 -RQ
_RQ 5 Weil | ‘\l | ~\| Wei3 5 5 Wei3 | ~\| Rot | ‘\l ’7 5
Rot Rot Rot ><Wei8
+RQ 6 \& \r\ 6 6 \r\ 6
ov 7 Schwarz | | | | Schwarz 7 7 Schwarz Schwarz, 7 +SD
5V s Violett Violett s s Violett Violett s D
5V 9 Griin Griin 9 9 Griin | Griin 9
oV 10 Braun ) ;Braun 10 10 Braun L Braun 10
- —_—— — — — — — — ] Futteral ~ [Abschirmung

10 (G) RS97-102401G[] Series




FANUC-Spezifikationen (RS97-1024EGA / RS97-1024NGA)

An FANUC-Steuergerat

T h
— — — 0 - ,J
Verlangerungskabel (D Verlangerungskabel @
Japan Aviation Electronics Industry Japan Aviation Electronics Industry  Japan Aviation Electronics Industry Honda Tsushin Kogyo
JN2DS10SL2-R JNTHS10PL2 JN2DS10SL2-R PCR-S20FS+
Signalbezeichnung  Pol Nr. Pol Nr. Pol Nr. Pol Nr. Signalbezeichnung

D 1 Grau = ~ Grau 1 ] Grau . —~ Orange  ~ 1 +SD

+SD 5 Orange | | | | Orange 5 5 Orange | ! ><Grau | > “oD
Abschirmung 3 |Abschirmun —Abschimung 3 3 A_bSChiﬂ’}uﬁI \[ 3
4 | | 4 4 | | 4

_RQ 5 Weil} ﬁ ﬁ Weif} 5 5 Weil} i -~ Rot ) 5 +RQ

+RQ 6 Rot L ,Rot 6 6 Rot Weil3 P _RQ
ov 7 Schwarz % % Schwarz 7 7 Schwarzi | Schwarz, 7
5V s Violett Violett 8 8 Violett L Violett s

5V 9 Griin | | | Griin 9 9 Griin Griin 9 45V
oV 10 Braun Braun 10 10 Braun Braun 10
- —_—— 1

| 12 oV
13

| 14 ov
| 15

| 16 ov
| 17

| 18 +5V
| 19

— 20 +5V

| —————— Case  [Abschirmung|

R$97-1024[ 1G] Series e 1



8. Storungsbeseitigung

Falls Sie vermuten, dass eine Stérung des Dreh-Magnescales vorliegt, gehen Sie wie nachstehend

beschrieben vor, um die Storung zu beseitigen.

Priifen Sie nach, dass keinerlei Problem bei den zum Anschliel3en des Gerates an das
Steuergerat verwendeten Kabeln und Steckverbindern vorliegt.

\

i

Falls ein Problem festgestellt wird,
wechseln Sie das betreffende Teil aus.

Rundlaufabweichung und Abstand).

Priifen Sie nach, dass das Gerat einwandfrei installiert wurde (Uberprifen Sie

(Siehe Abschnitt ,6-3. Installationsverfahren “.)

Falls ein Problem bei der Installation vorliegt,

nehmen Sie die erforderlichen Einstellungen vor.

Bitte wenden Sie sich an unsere Vertretung oder den Kundendienst.

12 (G)

RS97-1024[]G[] Series



9. Technische Daten

9-1. Spezifikationen des Dreh-Magnescales

Gegenstand RS97-1024EGD Series | RS97-1024EGA Series RS97-1024NGA Series

Ausgangssignal Absolut seriell (Vollduplex: Entspricht EIA-422)

Datenformat Mitsubishi Electric-Spezifikationen | FANUC-Spezifikationen

Motortemperatur-Erkennung | Nicht verfiigbar

Erkennungsmethode Magnetisch (MR-Sensor)

Genauigkeit (bei 20°C) +2,58

Auflésung 23-Bit-Ausgabe

Umdrehungsrichtung Im Uhrzeigersinn (Die Additionsrichtung und absolute 0-Ausgabeposition sind in den
Auflenabmessungen angegeben.)

Ansprechdrehzahl 5000 min™*

Betriebstemperaturbereich 0 °C bis +60 °C

Lagertemperaturbereich -10 °C bis +60 °C

Vibrationsfestigkeit 150 m/s* (50 Hz bis 2000 Hz)

Stofifestigkeit 1000 m/s? (11 ms)

Schutzklasse IP65

Versorgungsspannung DC 4,75 - 5,25 V (an Kabelanschlussende)

Stromverbrauch 330 mA oder weniger 300 mA
(mit 120 Q Last)

Einschaltstofistrom max. 2 A (bei einer Stromversorgungs-Anstiegszeit von 10 ms)

Stromversorgungsschutz

Bei einem Fehler, wie Stromversorgungs-Riickwértsanschluss oder Uberspannung, brennt die
eingebaute Sicherung zum Schutz der Stromversorgung und Verdrahtung durch.

Abmessungen 96 mm (Innendurchmesser) X 20.15 mm (Dicke) 180 mm (Innendurchmesser)
x 19 mm (Dicke)

Kabelldnge 1 m /2 m (maximale Linge von 30 m mit Verldngerungskabeln) 1m/2m/3m (maximale Ldngevon
30 m mit Verldngerungskabeln)

Ausgangsanschluss Stecker JNTHS10PL2 von Japan Aviation Electronics Industry

Kompatibler Anschluss Buchse JN2DS10SL2-R von Japan Aviation Electronics Industry (kompatibler Steckverbinder)

Tragheitsmoment 9 x 10~* kg-m? oder weniger 8,8 X 10~ kg-m? oder weniger

Masse 2 kg oder weniger (rotor: 0,2 kg, stator: 1,7 kg) Ca. 3,4 kg (rotor: 0,6 kg, stator:

2,8 kg)

Anderungen der obigen Informationen bleiben jederzeit vorbehalten.

RS97-1024[]G[] Series

613



9-2. Ausgangsanschluss-Stiftbelegung

Anschlussstift-Nr.

Ausgabeformat: Vollduplex

-SD

+SD

Abschirmung

_RQ

+RQ

ov

+5V

O [0 | N[ |V [ | W [N~

+5V

—
o

ov

9-3. Kabelspezifikationen

 DieKabel diirfen weder geschnitten noch verldngert werden. Dadurch wird die Garantie der Funktionen
und Leistungsmerkmale des Gerites aufler Kraft gesetzt.
o Die Steckverbinder von Kopfkabel und Verlingerungskabeln bestehen aus Metall. Handhaben Sie diese
Steckverbinder sorgsam, da sie den Stator oder Rotor einbeulen oder beschidigen konnen, wenn sie
stark gegen diese Teile stoflen.

9-3-1. Kopfkabel

Kabelldnge Im/2m/3m (3m:nurRS97-1024NGA)

Verldngerung Verlingerung bis zu einer maximalen Linge von 30 m iber Verlingerungskabel
(Sonderzubehor)

Steckverbinder JN1HSI10PL2 (hergestellt von Japan Aviation Electronics Industry)

9-3-2. Verlangerungskabel (Sonderzubehor)

Eine einwandfreie Verbindung ist bis zu einer maximalen Kabelldnge von 30 m mit maximal zwei Kabeln

garantiert.

(Verlangerungskabel (D: x1; Verlingerungskabel 2): x1)

Verldangerungskabel @

| Verlangerungskabel @

Kabelldnge (Einzelheiten sind von unserer Vertretung erhiltlich.)
Gesamtlange 30 m bei Kombination mit Kopfkabel
Steckverbinder JN2DS10SL2-R JN2DS10SL2-R

(hergestellt von Japan Aviation Electronics
Industry)

JN1HS10PL2
(hergestellt von Japan Aviation Electronics
Industry)

(hergestellt von Japan Aviation Electronics
Industry)
|

Mitsubishi Electric-Spezifikationen
(RS97-1024EGD)
36210-0100PL (hergestellt von Sumitomo 3M)

oder
FANUGC-Spezifikationen
(RS97-1024EGA/RS97-1024NGA)
PCR-S20FS+ (hergestellt von Honda Tsushin Kogyo)

14 (G)

RS97-1024[]G[] Series



9-4, Zubehor

RS97-1024EGD/RS97-1024EGA

Innensechskantschrauben M4 x 15 9 (fir die Installation des Rotors)
Innensechskantschrauben M4 x 20 9 (fiir die Installation des Stators)
Unterlegscheiben for M4 18

Genauigkeitstabelle 1

Einstellscheiben 140 um 2

RS97-1024NGA

Innensechskantschrauben M6 x 16 9 (fur die Installation des Rotors)
Innensechskantschrauben M6 X 20 9 (fiir die Installation des Stators)
Unterlegscheiben for M6 18

Genauigkeitstabelle 1

Einstellscheiben 250 pm 2

RS97-1024[]G[] Series

G 15



10. AuBenabmessungen

Fiir einen Rotor-Innendurchmesser von 96 mm (RS97-1024EGD/RS97-1024EGA)

wuw :1’yuig

(pueisnz u21b11S949q WI) WW G| : snipesabaig Jojewiuly
UISYPUNQISA-I9}97-8 ‘WW 9’G 8D : J9ssawydInpuagny
[2geysbnzsny saawliydsabqy

9N X T

(3vr) T1dOLSHLNF
[]opowssn|ydsuy

V [194d
UOA |1e19(

(PeaD ZF) uorsodagebsny-pjundzuaiayey

g-g Muydsqy

S8 X6

g
BENE
=il [ 100]
w=zal 5oz °Sy 1000 E
v
A
— +
I ]
\N . S 8 s
R R R A R A A L 1 9
O | tor = &
N %l
T
3 3
MD & = o
/ \ \ y
ox/
vl

(1030Y pun ayde}ASeIqY USYDSIMZ puelsqy)

€00 ¢71°0

(007 51'07)

0[]

w0l

(%9 94 0072

RS97-1024[]G[] Series

16 (G)



wuw :’yuig

\NEE |

A

22

NN

(dydeYSuone||eIsu|-1010Y)

syored
€'807¢

5208*)
0
Lo+

(

¥9'6

st 081

uonisodagebsny-pundzuaissey

8N X T

Yo 0679

(851Y)

A

b\

X7)

Fiir einen Rotor-Innendurchmesser von 180 mm (RS97-1024NGA)

(3Vr) TT1dOLSHLNS
|[epowssnjyosuy

o

)

O

7 (8N)
(pueisnz ua1b11$3yag WI) WW 07 : snipesabalg Jajewiuly
UIDPUNCISA-ISNDT-0L ‘W 8/ ‘D : 19ssawiydinpuagny

1oqessbnzsny seywydsabqy

) 17

RS97-1024[]G[] Series



ZDZZa T E N T B EMNOFENEIT LHIZH
D. HHNFIESBAEOHEHAZBNE LT ET,
L7225 T UrkoEFal s LICHEM cEHE LD, 3N
N O(HE, R L) LREEIENTAYZ 2 7L A
TAHZEEEZELELET,

AT ATIC R N R B R AN T JEE Magnescale Co., Ltd.
A HENE SEAS T R e B s S SE R A .

PRI VEEC A A F M P T ic B8O & A E AN, R
%% Magnescale Co., Ltd. [IABAHIE ], ™58 Hl
AT WA 2

The material contained in this manual consists of
information that is the property of Magnescale Co., Ltd.
and is intended solely for use by the purchasers of the
equipment described in this manual.

Magnescale Co., Ltd. expressly prohibits the duplication
of any portion of this manual or the use thereof for any
purpose other than the operation or maintenance of the
equipment described in this manual without the express
written permission of Magnescale Co., Ltd.

Le matériel contenu dans ce manuel consiste en
informations qui sont la propriété de Magnescale Co., Ltd.
et sont destinées exclusivement a I'usage des acquéreurs
de I'équipement décrit dans ce manuel.

Magnescale Co., Ltd. interdit formellement la copie de
quelque partie que ce soit de ce manuel ou son emploi
pour tout autre but que des opérations ou entretiens
de I'équipement a moins d'une permission écrite de
Magnescale Co., Ltd.

Die in dieser Anleitung enthaltenen Informationen
sind Eigentum von Magnescale Co., Ltd. und sind
ausschlieBlich fiir den Gebrauch durch den Kaufer der in
dieser Anleitung beschriebenen Ausriistung bestimmt.
Magnescale Co., Ltd. untersagt ausdriicklich die
Vervielfdltigung jeglicher Teile dieser Anleitung oder
den Gebrauch derselben fiir irgendeinen anderen Zweck
als die Bedienung oder Wartung der in dieser Anleitung
beschriebenen Ausriistung ohne ausdriickliche
schriftliche Erlaubnis von Magnescale Co., Ltd.



* 5E &

KBRS

——— KB LTH, BERA, RO SORA
SEEVISER - 55 IR, (2L WP G TS A
BHEIIE. TORDTEHD FEA)

B 5. w5 BEEH G X OESAMEELR O g
ZOoNTIE, RIS 3 RB AR L2 T,

mx . . B AT HREMNZ B TORER T,

B

NEDEE: REERTE
b % b o
B = S e D HRBIHE, AR T LSO 72 0F
ﬁlf = WA MFRRE T, AL e L 71, e
% B L %5
@ ABIZIES LRI, ABRBOBIICRET 580
(= 1 B LFB =3 B =] EL. TSI DWW TORELIZ W Lk E T,
1 ps B AT, KOBA AL 5D 4,
; Z S 1 & © kK. WE. AH. EED ECEOMK S K
2 g,
ﬁ! [ ] =2 N A 74 N ) — Y
ng7_1024 G Serles @ fEHLEDRD B LXORYBBERBOEIZ & 5 i,
% LGL @ e B & OB %,
@
®

AT BE T H A 5 R 2E R b o i 2 e L 7 3 AEOHFBITIIVALERADT, kLS kY
BT, AR tREEE NS & B A 1T 2 & ERELTC R,

EBRRTLEDTY,

BERCHET§ 5 DRSS THIC TR SN 256 (WADZ T TRETZ 3545 ) . RIEEANORLATAR S 1
ESCS




BAD S DELEICHE T 5ER

B (F KON ) (3 I REE 1D 16 DIH (SR mnl 16 D)L LET, Fv v F4 —
IURHINC & B REFREE B OFF TSI O Z £ LT3, FWiliEhkIC T THERE < 72 0y,

For foreign customers

Note: This product (or technology) may be restricted by the government in your country. Please make sure
that end-use, end user and country of destination of this product do not violate your local government
regulation.

MAESHTITRRAT—I

T 108-6018 ER#MAXEFH2THI15F 15 @®1>2—7 1 At 18

Magnescale Co., Ltd.

Shinagawa Intercity Tower A-18F, 2-15-1, Konan, Minato-ku, Tokyo 108-6018, Japan

RS97-1024L]GL] Series 20129
2-A00-595-0C Printed in Japan
ZOv= 2 7 VEIHERA L TOET, ©2012 Magnescale Co., Ltd.




	表紙
	安全規格
	日本語
	安全のために
	目次
	1. 製品概要
	1-1. 概要
	1-2. 特長
	1-3. システム構成
	1-4. 型名

	2. 各部の名称と働き
	3. 取扱上の注意
	4. 出力信号（シリアル出力）
	4-1. 信号仕様
	4-2. コントローラ接続仕様

	5. 電源について
	6. 回転マグネスケールの取付
	6-1. 取付寸法および公差
	6-2. 取付上のご注意
	6-3. 取付手順

	7. 結線例
	8. 故障とお考えになる前に
	9. 仕様
	9-1. 回転マグネスケール部仕様
	9-2. 出力コネクタピン仕様
	9-3. ケーブル仕様
	9-3-1. ヘッドケーブル
	9-3-2. 延長用接続ケーブル (別売)

	9-4. 付属品

	10. 外形寸法図

	English
	Safety Precautions
	Contents
	1.  Product Overview
	1-1.  Overview
	1-2.  Features
	1-3. System Configuration
	1-4.  Model Name

	2.  Name and Function of Each Part
	3.  Handling Precautions
	4. Output Signal (Serial Output)
	4-1. Signal Specifications
	4-2. Controller Connection Specifications

	5. Power Supply
	6.  Rotary Magnescale Installation
	6-1.  Installation Dimensions and Tolerance
	6-2.  Installation Precaution
	6-3.  Installation Procedure

	7. Example of Wiring Connections
	8. Troubleshooting
	9.  Specifications
	9-1.  Rotary Magnescale Specifications
	9-2.  Output Connector Pin Specifications
	9-3.  Cable Specifications
	9-3-1.  Head Cable
	9-3-2.  Extension Connection Cables (sold separately)

	9-4.  Accessories

	10. Outside Dimensions

	Deutsch
	Sicherheitsmaßnahmen
	Inhalt
	1.  Produktüberblick
	1-1.  Überblick
	1-2.  Merkmale
	1-3.  Systemkonfiguration
	1-4.  Modellbezeichnung

	2.  Bezeichnungen und Funktionen der Teile 
	3.  Vorsichtshinweise zur Handhabung
	4. Ausgangssignal (Serielle Ausgabe)
	4-1. Signalspezifikationen
	4-2. Steuergerät-Anschlussspezifikationen

	5. Stromversorgung
	6.  Installation des Dreh-Magnescales
	6-1.  Installationsmaße und Maßtoleranzen
	6-2.  Vorsichtshinweise zur Installation
	6-3.  Installationsverfahren

	7. Verdrahtungsbeispiel
	8. Störungsbeseitigung
	9.  Technische Daten
	9-1.  Spezifikationen des Dreh-Magnescales
	9-2.  Ausgangsanschluss-Stiftbelegung
	9-3.  Kabelspezifikationen
	9-3-1.  Kopfkabel
	9-3-2.  Verlängerungskabel (Sonderzubehör)

	9-4.  Zubehör

	10.  Außenabmessungen

	著作権
	保証書
	裏表紙



